Multiply the numbers.

X 118 709 000

10 ;300 3000 X i10 | 108

Lesson 18
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@ Write the bers in expanded and dard form.

@ Solve the equations

| check

5_+..3—,,,,,,, L l-1d

What is one hour later than 5:00 p. 7 6:00 P.0s.

What is one hour earlier than 10:00 am? 93-00 A M.

@ Write the correct symbol.

Test 2 Legson 20
@ Write the value of each,

Writs <or=.

Q Write the Roman numerals.

58 LV 63 AL
18 XV g X

@ Find the sum.

128 481 1674 644 w882 c8m 17
967 1,377 1,058 1,587 836 983 969 956

i

Virite the fractional part shaded.

Writs even or odd,

36 @vVen &75 Odd

odd 1even

Jack ran 352 yards on Tuesday and 286 on Thursday. Which day did
he run the most yards?
638

ow many yards did he run in the 2 days?

(3 x 1,000 + {2 x 100} + (6 x 10} + (9 x 1} =3,000 200+ 60 + 9 -3,269 greaterthan > addition  _+_
(6 1.000) + (4 x 100} + (7 x 10} « (8x 1) =6,000- 400+ 70 + 8 ~B.478 dollarsign B cantsign €
(2% 10000+ (7 x 100} + (8x 10} + (5x 11 =2,000- 700+ 80 + & ~2,785 multiptication _X_ lessthan <
(7% 10000+ (1 100) + (0 x 10h+ (4 x B 2,000 100+ 00 + 4 7,104 subtraction = equal =
a7 38
Lesson 18 %) Write the numbers in expanded and standard form
Write = or ». {3% 1000 + (1 x 100) + {0 x 10} + (4 x 11 =3,000+ 100 + 00 + 4 -3304
,s 10 = 60 | & x 100 _=. 800 7218 x 1000__21,800; {2 x 1000 + (4% 100 + 18 x 10} + (8x 1) =2,000+ 400 + 90 + B -2,498
g35 x 100 = 3500 | 48 x 10 _= 4800 [ 10 x 100 = 100 ! 8x1000)+(7x1001+{2x10}+(5x 1=6000+ 700 + 20 + 5 «B,725
}86 x1000_= 8,600 | 516x 10 _= 5160 | 72 x 10 Z 7200} 8x1000)+(5x100) +{3x 10} + (4 x 1 =3,000+ 500 + 30 + 4 -8534
f i = £ 4 5
32 100 = 73200 3 x1000.= 3000 | 403x 100 2 4030} | | @ govu e equations
@.Hndmadﬁf«enu. 4E n+,{s 10 n +p/= 13 n+/-9
835 958 729 681 613 832 407 647 g 2 -3 v 4 ‘g .4 _'g
- 768 -691 -363 891 - 242 - 482 - 285 - 373 na=7 n= n=
71 267 366 90 371 340 112 274 wo 7+3=10 5+8=13 5+4=9
927 209 753 815 845 668 629 508 _ o
_596 -169 -281 -670 -271 -482 - 138 262 n+7'=11 n+ =1 PP ART n+ )-8
331 40 492, 145 €74 175 491 246 Y -7 & 9 B -6 Y -1
Write the correct time. n=4 n=5 n=9 n=7
' 4 +7 =11 5+9=14 9+6=15 7+1=8
&) Write the smallest number possitle
47381 52608 246189 83075
13.478 _20.568 12,469 30,578

What time is it 2 hours before 8:00 am 78:00 A.M,
What time is it 3 hours after 11:00 am ? 2:00 P.M,
39

@ Write the missing numbers for the addition puzzle.

Lesson 20
Add 10 to anch number.

{ 97 107 12 22
s3s 548 sss 699
g _18 2z 33
gas 859 78 88

Solve the equations and check
a1 R 12 n+,8’=15 n+/=10 n+,5'ur9
= 2 -8 A -4 F -5
=2 n=7 n==56 n=4
§43=12 7,8-15 | 6+4=10  445=9
n+ F=13 §n+/f=15 n+;/=11 n+/(=5
7 g s X
n=6 | n=8 n=5 n=>5
6+7=13 | 8+9=15 54+6 =11 5+1=6

5182124:27 |

X3 006 516 1 T2 6 @
: 8 01016 82 144 1218

@ Write the smallast number possible.

@ Find the difference.

706 878 247 929 569 708 649 826
- 126 - 295 - 163 - 475 - 287 - 632 - 190 - 374

580 583 784 454 282 76 458 452

314 439 815 502 529 654 734 555
-183  -.382 - 643 -482 -3¢8 . 83 - 351 . 192

‘131 257 172 120 181 571 383 363

C s, Who received the most A's?

Sam received 4 A s, 2 B s, and 1 C. Mike received 2 As,5Bs,and0

Who received the most B's?

Who received the most C's? Sam How many A's did they

receiveinali? _6 _ A's

How many grades did they each get? 7

44

How many B's did they receive in all? _7 B's

grades




Worksheet 41

Lesson 83

Worksheet 37 Lesson 73 Worksheet 38 Utah Lesson 77
Add to find the sum. Drill i1 N
Arizona
2 8 7 0 1 s ) 2 8 fiup
8 +6 +2 +8 #7 +6 +6  +1  x1
11 14 9 6 g 1% 12 3 7 New Mexico
I
7 1 L) 5 8 2 5 4 7
#5 +4 +8 +3 +9 +5 +9 48  +8
12 5 18 8 15 7 14 12 15
3 -] 8 9 1 4 g 8 3
4 +3 +8 #3431  +3 46 +3 49
7 9 17 12 2 7 11 11 12
1. What is the distance from Flagstaff to Kingman? 73 miles
2. What Interstate route runs from Phoenix to Tucson? 1-10
Subtract to find the differance. Drill #2 3 ::-.hlan:t:;:t::;]?d vgﬂ go through traveling from Holbrook to Kingman
10 1 7 13 14 8 7 g ™ 4. How many miles is it from Blythe to Phoenix? 191 miles
--—19 —% —-% _:36- -:-% —-1 —.% -% _—; 5. Is Phoenix closer to Tucson or Flagstaff? Tucson
6 Byhowmuch? _14 miles
17 9 5 8 4 16 10 7 4 7. What Interstate route would you take from Gila Bend to Yuma? -8
-8 -1 -5 -1 -3 -7 -7 3 -1
8 8 0 7 1 ) 3 4 3 8. What town is south of Tucson on the Mexician border? _NOQales
9. How far is it from Tueson to Blythe by way of Phoenix? 272 miles
8 12 13 15 9 3 10 6 4 i
-1 ..i. -4 -7 -4 -8 -4 -6 -4 10, Nheat t&fé‘és on the Arizona California border west of Kingman?
1 5 9 8 5 3 6 0 0 =
Worksheet 39 Lesson 78 Waorksheet 40 Lasson B2
Add to find the sum. Orill #1 Find the Product.
2 5 1 4 0 6 7 5 3 615 536 218 312 207 524 4038 413
*5 7 +9 +68 +6 +3 +3  +1 i _x4 x2 x 6 x5 x8 x3 x5 x7
7 12 10 10 6 9 10 6 7 2,480 1,072 1,308 1,560 1,656 1,572 2,045 2,891
g 3 4 4 A 2 2 9 7 913 426 402 813 905 518 313 609
21 e a8 ss w0 21 26 3 e8| o3 553,18 58T 8 748 2580 1,574 4872
15 10 13 g 4 9 13 1 16 ! ' ' ' ’ ’ ' d
412 517 613 615 629 837 305 914
] 1 2 6 6 3 8 8 5 %7 x5 x5 x7 3 _x2 _x8 _x4
9 45 #1 +0  +7 48 1 ¢4 44 2,884 3,102 3,065 4,305 1,887 1,674 2,440 3,656
15 6 3 6 13 g g 1 9
728 608 639 817 407 924 613 517
_x3 _x8 _x2 _x5 _x8§ _x4 _x§6 x7
2,184 4,864 1,278 4,085 3,663 3,696 3,678 3,619
P - 802 714 925 817 714 609 718 426
Subtract to find the difference. Drill #2 e X8 %3 _x4 x5 _x9 x4 _x2
7,218 4,284 2,775 3,268 3,570 5,481 2,876 852
8 7 12 hh] 16 6 6 ] g
-6 -t -5 8 -8 _4 1 0 3 818 916 907 738 815 402 827 706
2 6 7 5 8 2 5 9 0 x4 _x5 x7 _x2 x6 _xB _x3 _x8
2,472 4,580 6,349 1,476 4,890 3,216 2,481 5,648
11 13 7 9 5 12 14 10 10
-3 .8 -z -3 -3 -8 -9 -5 _-8 508 715 914 208 407 921 84 803
_xg x4 _x5 _x9 _xB x4 _x7 _x6
8 5 5 6 2 4 5 5 21,554 2860 4,570 1,872 2,035 3,684 5698 4,818
8 5 14 6 6 15 g 8 1
. R _ . - 214 107 518 806 316 712 205 424
R R _x6 _x7 _x3 _x9 _x5 _x7 _x6 _x4
5 1 8 1 4 71 3 8 2 1,284 749 1,657 7,254 1,580 4,984 5430 1,696

Worksheet 42 {esson B4

Add to find the sum. Drill #1 Write = or =
6 8 2 9 1 4 7 8 7

*6 9 49 48  +6 +8 +2 46«4 2= e 3,—39 4 15 3 6
12 17 11 15 7 10 9 14 M s =l nd 35 sl e
b ] 5 1 3 9 8 5 7 3 = = = =

+8 +5 +4 48  +8 +2  +2 +7  +8 3x8 =24i14x6 =36 |Ex15=-75|Ax6 =238

18 10 5 12 17 10 7 14 g
g 3 8 S 5 3 1 8 7 5 10 1 5 3 5 2 3

X0 +8  +3  +68 +8  +1  +8  +3 40 7 [y 424 s (El EEB
s 1M 12 M B 4 W0 M 7 5x21=105|1x24=24 |[3x10=30{2x9 =18

Subtract to find the difference. Drill #2 1 4

FEG | FEE | Y| =2

0 1 156 ;] — —

R __; _4;_ i __j;_ ; 1x15=15{2x10=20(5x11=55 (2x28 =56
7 8 g 6 2 1 5 3 4 3x4 =12|5x6 =30{6x10=60 |7x8 =56
? 'E; ; " 3 15 3 14 10

-1 -6 -3 -3 -2 -8 -1 -8 _-8 3 7
4 8 1 8 1 7 2 & 1 x| 7685 | sE@F | iEs

Ix20=604x21=8414 = 1x25 =25
2 16 it 2 16 12 3 3 11
0 7 2 1 9 5 G 3 4
Worksheet 43 Lesson 88 Workshest 44 Lesson 80
Add to find the sum. Drill #1 Write the correct temperature.
5 —w e
42 45 4 20 sb i a0 26 a0 Ko ) "
7 13 10 8 8 13 8 13 10 5= - -
1 9 2 8 5 4 7 3 1 : :§§ : é-:

6 1 42 a7 47 47 40 47 45 £l 39 i E
7 10 4 15 12 11 7 1 6 Es i Ex
4 ] 8 7 \___élg'? AN ':/ i

4B 27 a4 29 a3 43 .3 7 s 40 ~ EE 0 o S8 e

0 16 12 16 4 6 10 13 9 " IE) (B iz (i

Subtract to find the ditference. Drill #2 § E 3 :g jlgg 3 ‘g
7 10 : h. :'.E/ "::: ] -'E

A8 s n oy || e Gy gy
3 8 9 1 7 8§ 8§ 7 (3Es (E IEN) i)

6 5 11 12 9 10 1 10 8 : : :3‘2; : : :§

=2 -5 8 -3 3 .4 6 2 0 - k|3 - 1
3 0 3 8 6 6 5 8 8 - EI3 - 1
5 12 10 ". ] ‘E ':: : Eg

SR S S S A S S : ilEE : I
4 3 2 9 4 T2 6 4 "8 24 54 12 32




